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10.  

	Three years ago, men made up two out of every three internet users in America.  Today the ratio of male to female users is about 

1 to 1. 

In that time the number of American females using the internet has grown by 30,000,000, while the number of males who use the internet has grown by 100%. 


	By how much has the total internet-user population increased in America in the past three years?

(A) 50,000,000 

 

(B) 60,000,000 


(C) 80,000,000 

(D) 100,000,000 



(E) 200,000,000


-- Use this space to explore and solve the problem --

Excerpt from chat log of students:
	Line
	Time
	Name
	Message
	Interval

	350
	4:31:55
	Mic
	how do we do this..
	

	351
	4:31:59
	Mic
	without knowing the total number
	0:00:04

	352
	4:32:01
	Mic
	of internet users?
	0:00:02

	
	
	
	….
	

	357
	4:32:23
	Dan
	it all comes from the 30000000
	

	358
	4:32:23
	Mic
	did u get something for 10?
	0:00:00

	359
	4:32:26
	Dan
	we already know
	0:00:03

	360
	4:32:44
	Mic
	30000000 is the number of increase in american females
	0:00:18

	361
	4:33:00
	Mic
	and since the ratio of male to female
	0:00:16

	362
	4:33:02
	Mic
	is 1 to 1
	0:00:02

	363
	4:33:09
	Mic
	thats all i got to give. someone finish it
	0:00:07

	364
	4:33:10
	Mic
	haha
	0:00:01

	365
	4:33:18
	Cosi
	haha you jackass
	0:00:08

	366
	4:33:20
	Mic
	haha
	0:00:02

	367
	4:33:21
	Dan
	hahaha
	0:00:01

	368
	4:33:26
	Mic
	u all thought i was gonna figure it out didnt
	0:00:05

	369
	4:33:27
	Mic
	u
	0:00:01

	370
	4:33:28
	Mic
	huh?
	0:00:01

	371
	4:33:28
	Hal
	it would be 60,000,000
	0:00:00

	372
	4:33:30
	Mic
	hal
	0:00:02

	373
	4:33:31
	Mic
	its all u
	0:00:01

	374
	4:33:33
	Mic
	see
	0:00:02

	375
	4:33:34
	Mic
	i helped
	0:00:01

	376
	4:33:54
	Cosi
	ok, so what’s 11 – just guess on 10
	0:00:20

	
	
	
	….
	

	386
	4:34:45
	Mic
	lets get back to 5
	

	387
	4:34:47
	Cosi
	i think it's more than 60,00000
	0:00:02

	388
	4:34:57
	Mic
	way to complicate things
	0:00:10

	389
	4:35:03
	Cosi
	haha sorry
	0:00:06

	390
	4:35:05
	Mic
	life was good until you said that
	0:00:02

	391
	4:35:07
	Mic
	:(
	0:00:02

	392
	4:35:18
	Cosi
	they cant get higher equally and even out to a 1 to 1 ratio
	0:00:11

	393
	4:35:27
	Cosi
	oh, no wait, less than that
	0:00:09

	394
	4:35:32
	Cosi
	50000000
	0:00:05

	395
	4:35:34
	Cosi
	yeah, it's that
	0:00:02

	396
	4:35:36
	Cosi
	im pretty sure
	0:00:02

	397
	4:35:37
	Mic
	haha
	0:00:01

	398
	4:35:38
	Mic
	how?
	0:00:01

	399
	4:35:57
	Cosi
	because the women pop had to grow more than the men in order to even out
	0:00:19

	400
	4:36:07
	Cosi
	so the men cant be equal (30)
	0:00:10

	401
	4:36:11
	Mic
	oh wow...
	0:00:04

	402
	4:36:16
	Mic
	i totally skipped the first sentencwe
	0:00:05

	403
	4:36:16
	Cosi
	therefore, the 50,000,000 is the only workable answer
	0:00:00

	404
	4:36:19
	Dan
	very smart
	0:00:03

	405
	4:36:21
	Cosi
	Damn im good
	0:00:02


Combining the proposals from Mic, Dan, Hal and Cosi:

How can I figure out the increase in users without knowing the total number of internet users? It seems to all come from the 30,000,000 figure. 30,000,000 is the number of increase in American females. Since the ratio of male to female is 1 to 1, the total of male and female combined would be 60,000,000. No, I think it must be more than 60,000,000 because the male and female user populations can’t get higher at equal rates and still even out to a 1 to 1 ratio after starting uneven. No, I made a mistake, the total must be less than 60,000,000. It could be 50,000,000, which is the only multiple choice option less than 60,000,000.
